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AT I SN HENERB
Ha: B0l Y= 04, BES Fs OIE
o9l YHBS MIEH CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OF—FJURSESESEE 45,100
OF=0EEHM 508 A &2¢ 20,000
03 BIAHNHE2IHIEL 31,600 30,500 1,100
O g ME2s gsXd 31,600
04 QIZFHALAIH B = 20,000 31,700 A 11,700
Os=048U3 20,000
S=EHEMY 29 1,444,795 1,317,177 127,618
306 93 1,444,795 1,317,177 127,618
01 &= 1,444,795 1,317,177 127,618
OE=0HENMY =23 1,444,795
8 #o =z 5,824,344 5,445,260 379,084
2 82,076
9] 4,089,397
=) 1,652,871
IHEEZELLHNL ESAE 2ERE 749,122 724,697 24,425
J| 631,065
< 118,057
308 X EHSOIA 749,122 724,697 24,425
J| 631,065
= 118,057
01 HIXNHHNBNEES 749,122 724,697 24,425
ONEZgIdikt E5Ad 29 656,117
9] 540,332
< 115,785
OJIZE = IIoH A &HH XI& 30,130
J| 30,130
OJE=dnoi it HPEedl X 12,875
J| 10,603
< 2,272
ONEEHINA BESAE 84 Al HEXAS 50,000
Jl 50,000
JHEEH Lol X ESAE JIsEZ 22,725 40,643 A17,918
J| 15,150
< 7,575
403 A X EHHS 20l A 22,725 40,643 A17,918
J| 15,150
= 7,575
01 X ESHHMA=E L 22,725 40,643 A17,918
OJNE =Y INlol A ESAE JIsES 22,725
J| 15,150
= 7,575
Y= ok NEsE T2OYW L o=H X 101,063 102,389 A 1,326
J| 82,858
< 18,205
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A= 2
Ha: B0l Y= 04, BES Fs OIE
Sl oy B B (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
308 X EHSOIA 101,063 100,389 674
J| 82,858
< 18,205
01 HIXNHHBHNEELES 101,063 100,389 674
ONE=gidikt XNzgss 220 72,578
J| 59,770
< 12,808
OJIE=ZH Lo A 2 = Hl 28,485
Jl| 23,088
= 5,397
IHEEZEH Dol A NS EZZ20YE 29 16,007 19,208 A 3,201
J| 13,182
< 2,825
308 AHAIEHHSOIA 16,007 19,208 A 3,201
J| 13,182
< 2,825
01 HXNHHNBMNELS 16,007 19,208 A 3,201
OXMNE =Y Dol A n3X =z 16,007
J| 13,182
< 2,825
t™Ze Agr 2YN 602,325 542,551 59,774
J| 401,550
< 200,775
308 XXM SOl A 602,325 542,551 59,774
J| 401,550
< 200,775
01 IXNHHBNEES 602,325 542,551 59,774
Osg &dga 29X 152,289
J| 101,526
< 50,763
Otz =Ey dga 22X 450,036
J| 300,024
=) 150,012
dEZg dgs 2N 735,462 679,556 55,906
J| 490,308
< 245,154
308 XX EHHSOIA 735,462 679,556 55,906
J| 490,308
< 245,154
01 HIXNHHNBNEES 735,462 679,556 55,906
O&8=" &dgA 2EXE 735,462
J| 490,308
= 245,154
SEZZIHAN ESAE 2GR 685,755 606,492 79,263
J| 568,666
< 117,089
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2.2 FHB B EH) - NEAY - BES %Ei HR=2
308 XHXIEHSO|A 685,755 606,492 79,263
J| 568,666
& 117,089
01 AIXSHMEMNEX= 685,755 606,492 79,263
O&ZHIlA ESAE 2 663,501
J| 546,412
=} 117,089
OXd=ZATIoHA MAH X& 22,254
J| 22,254
AEZHMNA XS 328 T2 72,930 72,930 0
J| 60,060
= 12,870
308 AKX SHHSOIH 72,930 72,930 0
J| 60,060
o= 12,870
01 AIXSHMEMNEXZ 72,930 72,930 0
Od=ZHIoA X2 =Tz ) 72,930
J| 60,060
= 12,870
SAEZHIoHAF 2= H| 2+8Hl X 69,792 69,792 0
J| 57,476
= 12,316
308 XHXIGHH SO0l & 69,792 69,792 0
J| 57,476
= 12,316
01 AIKISHENEXZ 69,792 69,792 0
Od=d1di Xt =4, 2t8H K& 69,792
J| 57,476
o 12,316
SAZHEIHA sSHIEsS AE 49,500 42,488 7,012
J| 40,800
=} 8,700
308 AMXISHMSOIA 49,500 42,488 7,012
J| 40,800
& 8,700
01 IXHAHINMNEEXTZ 49,500 42,488 7,012
Od=ZdMolA =ssHE s N 49,500
J| 40,800
& 8,700
ZAUG 0IF04 BSAE 2N 221,745 175,335 46,410
9] 184,378
== 37,367
308 AXIEHSOIA 221,745 175,335 46,410
Dl 184,378
= 37,367
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22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t

01 AXSHHBLEES 221,745 175,335 46,410
OZ2IdH 01FTHE ESAE 29 211,745
Il 174,378
< 37,367

OZ2Tah 01014 SSAIM €4 Al REX

23 10,000
| 10,000

Zd0o 0Ol=0E &8s 2IRE 189,831 216,075 N26,244
| 126,554
< 63,277

308 XXM SOIA 189,831 216,075 N26,244
| 126,554
< 63,277

01 IXNHHBANEES 189,831 216,075 N26,244
OZ4llol OIFHE &gh 2N 189,831
| 126,554
= 63,277

Z40ol 0l=0Hd ESAlE AEES 4,250 4,250 0
J| 3,500
< 750

403 A X EHHS 20l A 4,250 4,250 0
J| 3,500
< 750

01 X ESHMA=LE L 4,250 4,250 0
OZgIlol 0IFHE BESAIE tdEZ 4,250
| 3,500
< 750

Zgns NIXNI2 N 96, 152 96, 152 0
2 48,076
< 48,076

307 eIzl & 96,152 96,152 0
= 48,076
< 48,076

11T MISXASEX 96,152 96,152 0
OZA0YnS NAXLI2 X 96,152
= 48,076
< 48,076

ZAAH0L =AY 2SN 33,611 32,044 1,567
| 27,680
< 5,931

308 XtXIEHH SOl A 33,611 32,044 1,567
| 27,680
< 5,931

01 AXNHHBANEES 33,611 32,044 1,567
OZdIloiy =AHXE 29 33,611
| 27,680




A= N 2
HE: B0l Us G4, =S T OHE
Sl oy Aol BT (B9 ®R)
L=
A= 2A - BB SAEH) - NPAY - BES 0l &t o il HDEZ
| =) 5,931
Z40ciHHd =AXE dHESZ 1,480 168 1,312
J| 1,480
403 AXIHHSXH=0lA 1,480 168 1,312
J| 1,480
01 AR SHHA =22 = 1,480 168 1,312
OZgIloiod =AHAY dHESS 1,480
J| 1,480
A 0HOH Il oH Rt XI& 329,032 274,872 54,160
J| 249,942
=) 79,090
308 XXM SO0l A 329,032 274,872 54,160
J| 249,942
=) 79,090
01 X HHBAEES 329,032 274,872 54,160
O&OHOHIIGHA & &4 29 142,972
J| 107,229
< 35,743
OSOHOHIIGHA RI&AAIE 29 186,060
J| 142,713
=) 43,347
S0H0H HoHOls , BAHXNJEAEHEZ2L 93,000 70,500 22,500
J| 62,000
=) 31,000
308 XX EHHSOIA 93,000 70,500 22,500
J| 62,000
& 31,000
01 HIXNHHBNEES 93,000 70,500 22,500
O&OHOH Tmoiots, a8 XNFHdH 29 93,000
J| 62,000
< 31,000
SOHOHIIGHA K& JIs2EE 7,048 9,743 A 2,695
J| 4,699
=) 2,349
403 A X EH S =0l A 7,048 9,743 A 2,695
J| 4,699
=) 2,349
01 HXSHH=EE 7,048 9,743 A 2,695
OSOUHOHIIGH A XI&AIE JIs22 7,048
J| 4,699
& 2,349
SOHHDGHR PEXE At 62,701 62,701 0
J| 51,636
< 11,065
308 AHAIEHHSOIA 62,701 62,701 0
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Za: B0 Us 04, =S F= S
Sl oy B B (B9 ®R)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
Pl 51,636
& 11,065
01 AIKISHEMNEXZ 62,701 62,701 0
OXMSOHOHIIoH K P2 EXSE AL 62,701
Jl 51,636
= 11,065
HEZ W= 4,000 4,000 0
201 et 4,000 4,000 0
01 AR 22l ] 4,000 4,000 0]
OB H3I2 SN, 4= HY=A oY
M= 4,000
HEZHIHA 212X 4,860 4,860 0
308 XNXIGHH SO0l & 4,860 4,860 0
01 AIKISHHENEXZ 4,860 4,860 0
OAdZZ0A 22X 4,860
HAEZSH A AlE SAML HRMA 7,440 7,440 0
308 XX SHHSOIH 7,440 7,440 0
01 IXHHINMNEEXTZ 7,440 7,440 0]
OWEZY 2HHAALE SAXN AS2H&H| 7,440
HOolsEAYE 4 AFHDNR 30,000 30,000 0
= 20,000
o 10,000
308 XHXIEHMSOIA 30,000 30,000 0
= 20,000
o 10,000
01 AIXSHMENMNEX= 30,000 30,000 0
OZMHOtSEAYE Mo 30,000
= 20,000
= 10,000
StNMS & o= 28,000 29,000 A 1,000
= 14,000
& 14,000
307 gizto| & 28,000 29,000 A 1,000
= 14,000
& 14,000
11T AISIEXAIEEX 28,000 29,000 A 1,000
OStnAMe &4 HW= 28,000
= 14,000
= 14,000
202835 13664 29 (=2HIXH) 699,858 631,980 67,878
J| 349,929
& 349,929
307 2I2t0| ™ 699,858 631,980 67,878




AR HENEFIHB SA :Ol&ItE N
Ha: B0l Y= 04, BES Fs OIE
Sl oy B B (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
Jl 349,929
=) 349,929
05 RIZtE = 699,858 631,980 67,878
O0d2sd3s 13664 E 2 699,858
J| 349,929
< 349,929
&2 83 13668EH 2 (XA ALY) 30,000 30,000 0
307 21201 A 30,000 30,000 0
05 RIZteIEt = 30,000 30,000 0
On4d2s=as 13664 EH 2 30,000
&2 83 1366HE JIsE22(3HIXA) 19,400 20,000 A 600
J| 9,700
< 9,700
402 QI2H X201 M 19,400 20,000 A 600
J| 9,700
< 9,700
02 QIZEH 2 AL EZ (01X TS ) 19,400 20,000 A 600
Od2=83 136648EH JIsES 19,400
J| 9,700
< 9,700
HEE" 23 A4 2H X2 59,160 57,840 1,320
307 glz2+ol & 20,400 20,400 0
05 Rzt E = 20,400 20,400 0
ONE=y 2HHANE 24l X2 (1366) 20,400
308 XX EHH SOl A 38,760 37,440 1,320
01 X HHILEES 38,760 37,440 1,320
O4E=g 2HAL 294 XA 38,760
ofibtetdl dEe 2E XA 795,095 743,615 51,480
J| 654,784
< 140,311
308 AHAIEHHSOIA 795,095 743,615 51,480
J| 654,784
< 140,311
01 HIXNHHNBMNEES 795,095 743,615 51,480
OdlBtetIIdEH (RIS ) 2SR 375,761
J| 309,450
< 66,311
OdlittetdldE (OtsE) 2L X2 419,334
J| 345,334
< 74,000
SHutetdl e, 8= ESAIE JIs22H X 3,000 43,939 A 40,939
'OEI
J| 2,000
< 1,000




a= el
HE: B0l Y= 04, RS F= IS
Sel: 0s Ao BT CERED
2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
403 UHXSHHSA=0l& 3,000 43,939 240,939
| 2,000
< 1,000
01 X SHMA2E X 3,000 43,939 A 40,939
O8="Ilaiit ESAE JIsEL 3,000
| 2,000
< 1,000
O & QI & X+ OH e 6,086,195 5,198,618 887,577
= 3,405,362
< 2,680,833
MYHEH N¥2I(HE) 2,364,630 2,069,750 294,880
= 1,456,975
< 907,655
307 glz2+0l & 2,364,630 2,069,750 294,880
= 1,456,975
< 907,655
11 AISI S XA E = 2,364,630 2,069,750 294,880
OMZHEH XF¥2Z9(&Y) 1,279,015
=2 770,928
< 508,087
OMYHME NE2Y(AEE) 1,085,615
= 686,047
< 399,568
MYHEH Xd 2Y(Al2) 1,344,610 1,190,860 153,750
= 1,344,610
308 XXM SO0 A 1,344,610 1,190,860 153,750
= 1,344,610
01 HIXNHHBNEES 1,344,610 1,190,860 153,750
OMZHH XNEZ2Y 1,344,610
= 1,344,610
HEFHSNAEEH XA 129,957 129,450 507
308 XtXIEHH SOl A 129,957 129,450 507
01 IXNHHBNEES 129,957 129,450 507
OWAFAX ALY X 98,457
OXNYSEd Agussd 31,500
HEFHAXNAI 2 SAN MU K& 63,120 59,520 3,600
307 glz2tol & 49,200 45,600 3,600
03 RIZIEH MY H2EHIEX 49,200 45,600 3,600
OWEHIXZIZ SML HR2MEE(HE) 49,200
308 XtXIEHH SOl A 13,920 13,920 0
01 IXNHHBANEES 13,920 13,920 0
OW&EFHAXAIZ SAKL HR2MSHI(AlZ) 13,920
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NETNE-BIES-EF" SN OAIIEZHD
HE: B0l Y= 04, RS F= IS
S g AR RN (&)
2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
02 It M AHE L 262,100 262,800 A 700
O&=s HUEWY slady NI AL 262,100
eI XA 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
03 QIAHMNHE2IHIEE 20,000 20,000 0
OdFHSXEIN2 28 XA 20,000
FUE0WY OXNE Sd L2Xel NEAE 344,400 0 344,400
= 189,000
< 155,400
307 21201 A 344,400 0 344,400
= 189,000
= 155,400
02 IS AMHEL 344,400 0 344,400
OFYUNWY CXE & dXtel XA 344,400
= 189,000
< 155,400
FEOY OUXg & Ldxtel NAAS (XA 33,600 0 33,600
307 glz2tol & 33,600 0 33,600
02 PIZtEHAHEE 33,600 0 33,600
OFUEONAE UXNE & LdXtel XNAAS(XHA) 33,600
FUMHE UERZT 3ot gXtel NIAMY 296,672 0 296,672
= 130,669
< 166,003
307 glz2tol & 296,672 0 296,672
= 130,669
< 166,003
02 YAFHAANHEE 296,672 0 296,672
OFYUNE UERD g3t Xtel NEAME 296,672
= 130,669
< 166,003
HFEWY UWESRKD It Ll XA (XA 32,000 0 32,000
307 21201 A 32,000 0 32,000
02 UAFAAFEE 32,000 0 32,000
OFAUWY UWESID g3It dXel X3 AY(
XA 32,000
FHU0MHE OUXE =2 2Xel NIAMZ 258,300 0 258,300
= 141,750
< 116,550
307 21201 A 258,300 0 258,300
= 141,750
< 116,550
02 QIZHE A A E X 258,300 0 258,300




NERNPEpE - EE SN OHERE
Ha: B0l Y= 04, BES Fs OIE
Sl Old I E TR (B9 ®R)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
OFUEWAY UXNE "€ 2Xel XNIFAY 258,300
= 141,750
= 116,550
HEWA XY Y A2 XNFAS(XA) 25,200 0 25,200
307 212t01 & 25,200 0 25,200
02 Q2B AMAIE E =X 25,200 0 25,200
OFUENHY CUXNE w2 Xl ANIAY 25,200
A28 =sH 38,100,889 32,813,223 5,287,666
= 9,773,770
g 1,307,000
J| 21,200,345
o 5,819,774
A20HA - 23X 24 EH 29 2,922,777 2,595,541 327,236
J| 2,248,290
= 674,487
308 MXISHHMSOIA 2,922,777 2,595,541 327,236
J| 2,248,290
& 674,487
01 IXHHIMNEEXTZ 2,922,777 2,595,541 327,236
OHLINE - UESIIEXNE SSEHEH 29 2,922,777
J| 2,248,290
& 674,487
2=5=20lLlsH 249 641,702 507,329 134,373
J| 493,616
= 148,086
308 XHXIEHSOIA 641,702 507,329 134,373
J| 493,616
o= 148,086
01 AIXSHMEMNEX= 641,702 507,329 134,373
ZES0lUsH 29 641,702
J| 493,616
= 148,086
2SF0UsH SAHAN AR A 6,720 5,400 1,320
308 XNXIGHHMSO0l& 6,720 5,400 1,320
01 AIKISHENEXZ 6,720 5,400 1,320
OBs0tU=sH SAIAN AR A 6,720
sE22=sH X 37,500 37,500 0]
J| 37,500
308 AMXISHMSOIA 37,500 37,500 0
J| 37,500
01 IXHAHIMNEEXTZ 37,500 37,500 0
O==32sH XN& 37,500
J| 37,500




2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
JIIEZRs Atgl&td =4 7,000 7,000 0
307 gl2tol & 7,000 7,000 0
02 It M AHE L 7,000 7,000 0
OJXEES e1s5I|2 & X2 7,000
SHR2I0IE ItHY=EH & XA 17,838,000 11,357,370 6,480,630
| 15,856,000
< 1,982,000
308 XXM S0 A 17,838,000 11,357,370 6,480,630
| 15,856,000
= 1,982,000
01 IXNHHBNEES 17,838,000 11,357,370 6,480,630
OS2It HEHY=RH S A& 17,838,000
J| 15,856,000
< 1,982,000
SIRR2I0IE SXAIE 4% &4 - X224 XNH 19,058 16,500 2,558
| 12,705
< 6,353
308 XXIEHHSOIA 19,058 16,500 2,558
| 12,705
< 6,353
01 AXNHHZBANEES 19,058 16,500 2,558
OstREEIIE SXAE 4R 4EIIZSH XA 19,058
| 12,705
< 6,353
SSMHEIIFFE(HYUU) =AHAXH 54,300 49,100 5,200
| 54,300
308 XXM S0 A 54,300 49,100 5,200
J| 54,300
01 AXNSHBLEES 54,300 49,100 5,200
OZsMeEINEE (HLLU) =HNA 54,300
| 54,300
SHR2ItE X 240,096 240,096 0
308 XXM SO0 A 240,096 240,096 0
01 IXNHHBNEES 240,096 240,096 0
OstRL2It= thedl XI& 240,096
otolss XA 10,988,201 10,611,717 376,484
= 9,565,220
< 1,422,981
307 21201 A 443,334 110,000 333,334
= 221,667
< 221,667
11T MISRASEER 443,334 110,000 333,334
OO0l SSAY Z2AXJAdH 294 443,334




NE RN -BIEF L SN HENERB
Ha: B0l Y= 04, BES Fs OIE
ool AUNIRY CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
= 221,667
= 221,667
308 X EHSOIA 10,544,867 10,501,717 43,150
= 9,343,553
< 1,201,314
01 HIXNHHNBMNEES 10,544,867 10,501,717 43,150
OotolE=s k& 10,544,867
= 9,343,553
< 1,201,314
OLOISS XA ALY SAX MMA 14,280 14,280 0
308 XXM SO A 14,280 14,280 0
01 AXHHBISEES 14,280 14,280 0
OO0l SSNE ALY SAA HRHH 14,280
rsdz2s XNH 312,825 272,790 40,035
= 208,550
= 104,275
308 MtXIEHMSOIH 312,825 272,790 40,035
= 208,550
= 104,275
01 HXNHHNBHELS 312,825 272,790 40,035
ONEHEd X 312,825
= 208,550
=) 104,275
FAUERE Ols2d=s 2 NEXE 288,000 223,470 64,530
Jl| 256,000
= 32,000
308 XX EHSOIA 288,000 223,470 64,530
J| 256,000
< 32,000
01 HIXNHHNBNEELS 288,000 223,470 64,530
OFAHERR Ots2x® ¥ NHEXH 288,000
J| 256,000
< 32,000
HAY DIELRX HEI2 2 50,850 38,820 12,030
J| 33,900
< 16,950
308 XXIEHHSOIA 50,850 38,820 12,030
J| 33,900
< 16,950
01 AXHHBILEES 50,850 38,820 12,030
OZdYEg e HEI2 29 50,850
J| 33,900
= 16,950
ChR2SEXJALHH 29 294,240 201,890 92,350
J| 226,340




M ox
40 5 4

% - 4 14
oS- (3H) - A %Eﬁ HR=2
= 67,900
308 XX G SO0l & 294,240 201,890 92,350
J| 226,340
= 67,900
01 AIKSHHENMNEXZ 294,240 201,890 92,350
OURsII=ERNAH 294,240
J| 226,340
& 67,900
Ch2sIEXNE HEHH 39,000 38,600 400
J| 19,500
& 19,500
308 MXISHMSOIA 39,000 38,600 400
J| 19,500
& 19,500
01 IXHHIMNEXTZ 39,000 38,600 400
OUSSIIEXNE HEAHEH 39,000
J| 19,500
o=t 19,500
CtESIE E43AY ,363,948 2,236,870 127,078
J| ,818,422
& 545,526
308 XAHXIEH SO A ,363,948 2,236,870 127,078
Jl ,818,422
& 545,526
01 AIXSHMENMNEX= ,363,948 2,236,870 127,078
OUEsIIE EHSHAH , 363,948
J| ,818,422
= 545,526
AL0NE L US2SINSNILAE SAMAXN AL2ME X 37,080 34,600 2,480
%
308 XX SHAHSOIH 37,080 34,600 2,480
01 AIXSHMENEXZ 37,080 34,600 2,480
OHLINE ¢ URsIIIEXNSHH
pliRa] 37,080
HEISMEANEH A 24 120,000 120,000 0
308 MXISHHMSOIA 120,000 120,000 0
01 HXHHIMNEEXTZ 120,000 120,000 0
OMH=SIIEAME AH 120,000
O23ItE SHAXH (XA 136,727 122,541 14,186
308 AXISHHSOIH 136,727 122,541 14,186
01 AIXSHMENMNEX= 136,727 122,541 14,186
OUESIE sHAEX 135,227
OSYHIARIAAN BExD=R 1,500




% - 4 14
R.2A "B G(EH) - M 0l &k 24 e bl D=2t
ChE23tE X3 17,500 25,300 A7,800
201 £B-2d| 7,300 14,900 A7,600
01 At 22l 7,300 14,900 A7,600
OUEIsIE AAX &2t 7,300
301 LEEAZ 200 400 A 200
09 HALAHIX RS 200 400 A 200
Ot =2aotE 24K 39 200
308 XX EHH SOl A 10,000 10,000 0
01 IXNHHBAMNEES 10,000 10,000 0
OUZIsIIE - A2 IHEXJ 2H DI 10,000
CtE23tot=E stits s=H X2 15,000 15,000 0
308 A EHHSOIA 15,000 15,000 0
01 HXNHHNBHEELES 15,000 15,000 0
OUZsIt=E st =M X3 15,000
SHR2ILE SEXAIE O0ISsSAHMHA XA 131,120 108,082 23,038
J| 116,182
< 14,938
308 XXM SO0 A 131,120 108,082 23,038
J| 116,182
< 14,938
01 IXNHHBNEES 131,120 108,082 23,038
Ost=22ItE =SXAI4 Ol0ISs AL X 131,120
J| 116,182
< 14,938
IPSHEH A 1,493,000 3,917,000 A 2,424,000
s 1,307,000
< 186,000
403 XIS S X201 & 1,493,000 3,917,000 A2,424,000
s 1,307,000
< 186,000
01 XXM 22 = 1,493,000 3,917,000 A2,424,000
ONEdH HE 1,493,000
s 1,307,000
= 186,000
StREEINE=SXNAE AMA=RRE 18,840 16,427 2,413
J| 18,840
308 AHAIEHSOIA 18,840 16,427 2,413
J| 18,840
01 AXSHBLAEES 18,840 16,427 2,413
OStREZINE=EXNANE AS=22R 18,840
J| 18,840
StRIIIZEFIAE JIsE22 N 13,125 0 13,125
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NS L S IENCEEBIES EE
CELE - PEL-LIETE
ool BAUAFSY CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
HAUAHESH 7,228,541 7,614,290 A 385,749
= 739,100
J| 258,212
< 6,231,229
FAEIMUS 36,000 36,000 0
307 21201 A 36,000 36,000 0
11T ALS S XAEE = 36,000 36,000 0
O&FAaY Z MR 36,000
NEFLAEHHEAHRARE 29 10,000 10,000 0
J| 5,000
< 5,000
307 glz2+ol & 10,000 10,000 0
Jl 5,000
< 5,000
11T M Z2XAISE EX 10,000 10,000 0
OANEEAEFHWHARAS 29 10,000
J| 5,000
< 5,000
NEEFLAEHEHRARASE 29 11,200 11,200 0
J| 11,200
308 XtXIEHHSOIA 11,200 11,200 0
J| 11,200
01 XML EES 11,200 11,200 0
OXNGZ3ALEHHAHRAREE 29 11,200
J| 11,200
Fad ol=H 12,000 12,000 0
307 21201 A 12,000 12,000 0
11T AL S XA E X 12,000 12,000 0
OFAE M=H 12,000
= MO Hal Ha4d &It 15,000 15,000 0
307 glz2tol & 15,000 15,000 0
11T M SXAISE EX 15,000 15,000 0
O=HMorgdia 4@ &It 15,000
FAUEN &8s Z20Y 2H 32,400 36,000 A 3,600
307 glz2+ol & 32,400 36,000 A 3,600
11T MISXASER 32,400 36,000 A 3,600
OFAEHH sg8s T8 29 32,400
HAASSIUEUEH 2L (HEAMY) 670,900 650,600 20,300
307 21201 A 670,900 650,600 20,300
10 ALSISXAIEEE2GHEX 515,750 495,450 20,300
OFAHESIELNH 2SNE 515,750




VIEPIEF L 2
PNEEHETE
PNEETE Y (SHol: @)
SH BB B(3H) - MRAY - B of 4 o4 il HI RS2
M ASIMNSEX 165,150 155,150 0
OFAEUESUEUEH SN 165,150
FAESEdER Jls2E 108,220 0 108,220
402 It Xt= 01 & 108,220 0 108,220
01 PTG 2AEER (M) 108,220 0 108,220
OFaxEsENED JIsES 108,220
dadE H=sg80ted 2SN 124,845 124,845 0
= 86,100
S 38,745
308 XXM S0l ™ 124,845 124,845 0
= 86,100
£ 38,745
01 HAHHMZEES 124,845 124,845 0
OFaxd Oi=80tg 2EX& 124,845
= 86,100
= 38,745
44 Sotel gSX& 55,825 55,825 0
= 38,500
S 17,325
308 XXM SO0IH 55,825 55,825 0
= 38,500
S 17,325
01 XM BadEES 55,825 55,825 0
O&AYE Sotel sXE 55,825
= 38,500
£ 17,325
HAGH>EAE ANSA X3 (XH) 225,012 220,824 4,188
Jl 225,012
308 XX SIS0 & 225,012 220,824 4,188
Jl 225,012
01 UAXESHHBHEXS 225,012 220,824 4,188
O Ae AZA K& 225,012
Il 225,012
AESEAE 2238 X 17,000 17,000 0
Jl 17,000
308 XXM S0l ™ 17,000 17,000 0
Jl 17,000
01 XM ZBEES 17,000 17,000 0
OFadxdAd 28923 K& 17,000
Jl 17,000
dad gFus T2 314,286 314,286 0
= 220,000
T 94,286

_20_




AR HHIEI = 2 2t
M MAEA2AG
ool HAUAFSY CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
307 glz2tol & 314,286 314,286 0
= 220,000
< 94,286
11T M SXASE EX 314,286 314,286 0
OFAaY &3dnus ZT27Y 314,286
= 220,000
< 94,286
S3EAESEANE JIsEL(NI-HEAL) 4,485,693 4,387,000 98,693
403 MtXISHHE X201 & 4,485,693 4,387,000 98,693
01 AXISHHA=2E = 4,485,693 4,387,000 98,693
OZSEaHFHANE JIs:2Z 4,485,693
Hstsd 2R 200,000 100,000 100,000
307 21201 A 200,000 100,000 100,000
05 RIZt2IEt = 200,000 100,000 100,000
OXtgsersd 2 200,000
HEAENEXN MM XA 176,160 189,360 A 13,200
307 gl2tol & 66,000 79,200 A 13,200
03 BIAHNHE2IHIEL 66,000 79,200 A 13,200
OFAEXNEX MRMAH XN (HE) 66,000
308 XXM SO0 A 110,160 110, 160 0
01 IXNHHBNEES 110,160 110, 160 0
OFAEXNEZX MRMSH K& (XH) 110,160
HEEAY BAAMES XA 423,000 358,350 64,650
= 282,000
< 141,000
308 XX EHH SOl A 423,000 358,350 64,650
= 282,000
< 141,000
01 AXHHILEES 423,000 358,350 64,650
Od3A~E EAHAAMESE X3 423,000
= 282,000
< 141,000
A FHIP 2sXEAEY 10,000 10,000 0
307 gl2tol & 10,000 10,000 0
11T M SXAISE EX 10,000 10,000 0
OFAY EWIF 2sXJAAY 10,000
FAaE SIS W 61,000 0 61,000
307 glz2tol & 61,000 0 61,000
11T M Z2XAISE EX 61,000 0 61,000
OFAYE SUZ N 61,000




NS L S IENCEEBIES EE
M HAEASLG
ool HAUAFSY (SHol: @)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
FAaE FHUAMH 29 15,000 0 15,000
307 gl2tol & 15,000 0 15,000
11T AS S RAEE = 15,000 0 15,000
OFAYE FOHUAM 2 15,000
AW 2Z2HAES ALY 225,000 0 225,000
= 112,500
< 112,500
307 g1+l & 225,000 0 225,000
= 112,500
= 112,500
10 ALSISXAIEHE 22X 180,000 0 180,000
O&A2d 222SdH 29 180,000
= 90,000
< 90,000
11T AL S XAEE = 45,000 0 45,000
O&Ad Z22HAZS MY 45,000
= 22,500
< 22,500
FAUESHE 7,166,474 6,904,618 261,856
= 62,385
J| 5,161,217
=) 1,942,872
HA2stde 2 (HY) 321,652 311,724 9,928
J| 160,826
=) 160,826
307 glz2tol & 321,652 311,724 9,928
J| 160,826
< 160,826
10 ALl SXAIEEE2EH EX 321,652 311,724 9,928
O42stdlH 2SN (DEEH) 160,826
J| 80,413
= 80,413
O42stdlH 22X (01sE) 160,826
J| 80,413
S 80,413
H2stde 2GS (XH) 80,413 77,931 2,482
J| 80,413
308 AHAIEHHSOIA 80,413 77,931 2,482
J| 80,413
01 HXNHHBHELS 80,413 77,931 2,482
Od=3dH 22X 80,413
J| 80,413
S25tHE DT Y 5,000 0 5,000
J| 5,000
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NS L S IENCEEBIES EE
M MAEA2AG
& FAHESHE CEE-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
307 glz2tol & 5,000 0 5,000
J| 5,000
02 IZHEHAHEE 5,000 0 5,000
O4d=2stdy w3 2 5,000
J| 5,000
U= &8st 24 13,500 13,500 0
307 glz2+ol & 13,500 13,500 0
11T MISXASEX 13,500 13,500 0
Odu=s NAEsIH &4 13,500
FAERSZZAE NFEAs 29 4,000 4,000 0
= 2,000
= 2,000
307 21201 A 4,000 4,000 0
= 2,000
< 2,000
11T M3 SXAISEEX 4,000 4,000 0
OFadRoiatZE2AHY XNAE2As 2HX3 4,000
= 2,000
= 2,000
ARSI ZAH 2Y 10,500 10,500 0
= 7,000
< 3,500
308 A EHSOIA 10,500 10,500 0
= 7,000
< 3,500
01 HXNHHNBMNEES 10,500 10,500 0
OFAERNSIZAE 2L 10,500
2 7,000
< 3,500
HAE dH 2N (HEY) 258,756 224,236 34,520
J| 129,378
< 129,378
402 RIZEX20l ™ 258,756 0 258,756
J| 129,378
< 129,378
03 212t Er AL HI 258,756 0 258,756
OFadaH 2K (HY) 258,756
J| 129,378
< 129,378
AW HE 2SXN(NY) 1,206,889 1,075,439 131,450
J| 928,376
< 278,513
308 MtXIEHMSOIH 1,206,889 1,075,439 131,450
J| 928,376

_23_




NS L SN OHERE
SRR PN
& FAHESHE CEE-ED
AR .24 B BAGEN) - NRANY - BES Ol &k o8 il HlnE2

== 278,513

01 IXNHHBNEES 1,206,889 1,075,439 131,450
OFAHEH 2YXA(KH) 1,206,889
J| 928,376
< 278,513

Z2HEAYE IHEANF=E N 36,300 0 36,300
| 18,150
= 18,150

308 AXIEHSO0IA 36,300 0 36,300
| 18,150
< 18,150

01 X HHILEXS 36,300 0 36,300
OgHEAY NEXNA=E XA 36,300
| 18,150
< 18,150

HAENMY 2E(XY) 411,436 409,090 2,346
| 205,718
< 205,718

307 glz2tol & 411,436 409,090 2,346
| 205,718
= 205,718

10 M ZXNANEHI2IHES 288,846 306,820 A17,974
O dAadotda I=24H 288,846
| 144,423
< 144,423

11T MISRASEX 122,590 102,270 20,320
O EAUEI S ALY 122,590
| 61,295
S 61,295

HAEUMY IA=(XH) 596,040 588,960 7,080
J| 596,040

308 XXX SO 596,040 588,960 7,080
J| 596,040

01 HXNHHBHELS 596,040 588,960 7,080
OAZ BAEHEY IEALY 596,040
| 596,040

AU MEIAY 605,427 573,630 31,797

307 glz2tol & 605,427 573,630 31,797

10 M ZXNANEHI2IHE=X 550,427 518,630 31,797
OFAHME=ENLEH 2 550,427

11T M3 SXASEEX 55,000 55,000 0
OFAGLE R ALY 55,000

SHANEZZOE2INA(ZY) 59,796 104,390 AN 44,504
| 29,898

_24_




AERNCEBIES-E R SN HENERB
SRR PNl
Chel: EAEBsSHEE (=& J)
AR .24 B BAGEN) - NRANY - BES Ol &k o8 il HlnE2
== 29,898
307 glz2tol & 59,796 104,390 AN 44,504
| 29,898
< 29,898
10 M SXNANEHI2IHE=S 59,796 104,390 AN 44 594
O s Z20d 28X & 59,796
J| 29,898
< 29,898
SHNHZ2 XSS XE (X&) 380,230 376,665 3,565
| 380,230
308 XtXIEHH SOl A 380,230 376,665 3,565
| 380,230
01 AXHHBILEES 380,230 376,665 3,565
OANZ St 228 2 XA 380,230
| 380,230
st g HAE X2 (HAY) 374,579 353,380 21,199
J| 262,203
< 112,376
307 21201 A 374,579 353,380 21,199
J| 262,203
< 112,376
10 M3 SXNANEHIS2IHEX 255,829 228,480 27,349
OF st 5 344 XN3aAMNY 2 255,829
| 179,078
< 76,751
11T AISI S XA E X 118,750 124,900 26,150
Ok st & #4d NI AMY 118,750
| 83,125
< 35,625
Stw & HAid X2 (XH) 957,840 919,618 38,222
J| 957,840
308 X XIEHHSOIA 957,840 919,618 38,222
| 957,840
01 AXSHBAELS 957,840 919,618 38,222
OAlZ & st #4489 X 957,840
| 957,840
178t ZSEADHAE 29 (HY) 81,706 75,066 6,640
| 74,232
< 7,474
307 glz2tol & 81,706 75,066 6,640
| 74,232
< 7,474
11 ASI S XA E = 81,706 75,066 6,640
ONrstn = ANME 29 81,706
| 74,232
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AERNCEBIES-E R SN HENERB
SRR PN
& FAHESHE (&)
A= 2A - BB SAEH) - NPAY - BES 0l &t o il HDEZ
| =) 7,474
FLESENE MY (NE) 79,440 52,960 26,480
J| 79,440
308 AHAIEHHSOIA 79,440 52,960 26,480
J| 79,440
01 HIXNHHNBHEES 79,440 52,960 26,480
OANZ HAUEEXA AY 79,440
J| 79,440
a4 s 23X 1,465,203 1,491,063 N 25,860
J| 1,127,079
=) 338,124
308 XXM SO0l A 1,465,203 1,491,063 A 25,860
J| 1,127,079
=) 338,124
01 X HHBAEES 1,465,203 1,491,063 N 25,860
OFaY &us g3X& 1,465,203
J| 1,127,079
< 338,124
stn=Ea AAE XNJME(XR) 58,248 57,366 882
J| 58,248
308 MHXIEHMSOIH 58,248 57,366 882
J| 58,248
01 X HHILEES 58,248 57,366 882
Ogtn=Ed AAs X2HH 58,248
J| 58,248
OIHY == MGALA XA (HE) 71,180 70,148 1,032
2 35,590
< 35,590
307 21201 & 71,180 70,148 1,032
2 35,590
< 35,590
11T M SXALSE EX 71,180 70,148 1,032
OCEY = S A XA 71,180
= 35,590
= 35,590
OEHY B MYASA HAA(XE) 17,795 35,074 A17,279
= 17,795
308 XXM SO A 17,795 35,074 A17,279
= 17,795
01 AXHHBLEES 17,795 35,074 A17,279
OQHY &= MdEaEA BIXIA 17,795
= 17,795
stm o8 AW ZAH NV (HF) 4,79 8,840 ~4,044
J| 2,398
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AERNCEBIES-E R SN HENERB
SRR PNl
o9 AUBSHE (el mel)
AR 2N EH O () - MBEAY - BAS 0 AF o il HZS2
T 2,398
307 212t01 & 4,796 8,840 N4 044
Dl 2,398
T 2,398
11 AMISAAEE X 4,796 8,840 N4 ,044
Ok stngt Had A K& 4,796
Il 2,398
T 2,398
st o8 HAE ZAH XN(K) 65,748 61,038 4,710
Dl 65,748
308 AtXI S SO0l & 65,748 61,038 4,710
Dl 65,748
01 AXHMIAEES 65,748 61,038 4,710
OAlZ stngt a4 ZAaH X3 65,748
Dl 65,748
HHSIHU(HLEIISHHA) 142,632 146,669 N4,037
ol 2 AHI 61,807 60,290 1,517
ol 2 A Y| 61,807 60,290 1,517
101 2124 d| 61,807 60,290 1,517
03 2RI (RIHE)22 RS 61,807 60,290 1,517
ORINHAIER B4 61,807
- 24 61,807
=3 1,890,990& 120 & »2H 45,384
AN of2t, 52224
10,620& *150%* 15A1 2t* 1200 & »2H 5,735
A X 10,6203 *8Al 2t x 152 2 H 2,549
H & SOty 1,890,990& *60%*23| x2H 4,539
== A= 10,000& x 128 x2H 240
g A 140,000& x12& x2H 3,360
Jl2& bl 80,825 86,379 N5, 554
Jl2&l 80,825 86,379 N5, 554
201 2et2 Y| 31,575 33,949 ~2,374
01 AFR2t2l bl 31,575 33,949 N2, 374
(OPIR=E==2:] 15,450
@OPIE=S=2=3:| 16,125
202 04| 37,850 41,030 A 3,180
01 2LHHI 37,850 41,030 A 3,180
OJ12 0 bl 37,850
203 € R =&lY| 11,400 11,400 0
01 J|2A2I PR =&Y 6,600 6,600 0
OW4gIt=EEZ =2 6,600

_27_




)
=0
RO

<

n0

Kio

Hl w

H3r
Wikd
RIS

Off &t 24

4,800 4,800

4,800

_28_




